>

BERGEN S359-REG2W2D

A B C D D

1 | s359-0015 | 487 | 415 | 57 11 | 3593011 | 966 | 435 | 27

2 | s359-0016 | 487 | 415 | 517 12 | s3593012 | 475 [ 415 | 27 - J y
3 | s359-0017 | 415 | 176 | 617 13 | 53593014 | 474 [ 409 | 27 1/, _-—/l
4 | s3s9-0018] 415 | 176 | 67 14 | 3593015 | 475 [ 415 | 217 @ 24 0%
5 |[s359-0019 | 415 | 176 | 67 15 | s359-5015 | 999 | 80 317

6 | S359-0020 | 415 | 176 | 617 16 | $359-5016 | 999 | 80 317 / /
7 | s359-1021 [ 1872 435 | 177 17 | 3595017 | 1712 | 80 317 < ~
8 | s359-1022 [ 1872 435 | 177 18 | s359-5018 | 1712 | 80 37 = =
9 [ s359-1023 [ 1856 | 415 | 177 19 | 53595019 | 944 [ 415 | 417

10 | s359-2006 | 1020 468 | 27 20 | s359-9306 | 1869 977 | w7 \

~
i (8

N

=
©

4x 8x 14x 32X 12x 17x
~ e PSR MO, e R af
XY al33 b78| | C415| |g5x17 mm d1 d 37/ 57450 mm 1) o6 513 o e2
1 28x 2X 2X IXx A= 1x 4x
@5x12 mm e41 [©5x18 mm e58 ©8x30 mm f1 (51050 mm f35 M4x20 mm j1 M4x22 mm 130 42,525\ mmk38\3 30x301108 mm k38\7 k125

54);@ 8x

23.5x16 mm p38 ©3,5x15 mm p51

10x 14x B [|11x . ||16X 1x
— N[4S
|1 ‘& |2 86211501 n14\2 ©5,3/88,3x4,8 mm 054 Z(TZW 070\6
ax % 8x 18x (ﬁé
d-16 mm 0114||gs 508 mm p143_ @15x12 mm_#16 r1

B [6X
-

@ 20mm 568
—
1 /8 P28-S359-REG2W2D-M_IN14-A-KOR02-TSZT01




2 /8 P28-S359-REG2W2D-M_IN14-A-KOR02-TSZTO1.idw



3 /8 P28-S359-REG2W2D-M_IN14-A-KOR02-TSZTO1.idw



4 /8 P28-S359-REG2W2D-M_IN14-A-KOR02-TSZTO1.idw



P28-S359-REG2W2D-M_IN14-A-KOR02-TSZT01

5/8




6 /8 P28-S359-REG2W2D-M_IN14-A-KOR02-TSZT01



d1




~510 mm

f35 p38

-

35

ni4\2 ™ pl7

I

E—
//
/

7
/

B
A

I
o e h i
——
o (]
IR T
k38\7

8 /8 P28-S359-REG2W2D-M_IN14-A-KOR02-TSZT01



>

BERGEN

A B C D D
1 S359-0032 | 771 | 455 5/6 11 S359-3021 | 514 | 409 2/6
2 S359-0033 | 455 | 176 5/6 12 S359-3022 | 441 | 409 1/6
3 S359-0034 | 771 | 455 5/6 13 S359-5011 | 1537 | 80 3/6
4 S359-0035 | 455 | 176 5/6 14 S359-5012 § 1537 80 3/6 @
5 S359-1041 § 1353 ] 435 1/6 15 S359-5033 | 1193} 80 3/6
6 S359-1042 | 1353 | 435 1/6 16 S359-5034 | 1193 | 80 3/6
7 S359-1043 | 1337 | 415 1/6 17 S359-5035 | 455 | 320 4/6
8 S359-1044 | 1337 | 415 1/6 18 S359-9013 | 1350 | 456 2/6
9 S359-2015 | 1558 | 468 2/6 19 S359-9309 | 1350 | 529 1/6
10 S359-3007 § 1504 | 435 2/6 20 S359-9310 § 1350 | 529 1/6

2 20mm
—

6x 6x "[13x "1 13x 36x
S S QT ~
‘o a132 b43 b78 M4 C415 @5x17 mm d1 d37 D7x50 mm e1
20x E@ 24x ﬂ 3x §@ AX 2X ﬂ 18@
26,3x13 mm e2 @8x30 mm f1 M4x20 mm 11 k125 socounmm K38\7| 12
12x 3x % 24x@ 56);@ 18x 12x @ 12x (ﬁé 12x R [1x
Ve ‘ 3p
2oxazest N108] |wi6mm 0114||eszz8345mm 054 |53.5x16 mm P38 23,5x15 mm p51 ©2,9x16 mm p55 @15x12 mm_#16 r 2.4W 070\5
8x 1x =9
s68|| .. z1

1/8

P28-S359-REG3W-M_IN14-A-KOR02-TSZT01



2 /8 P28-S359-REG3W-M_IN14-A-KOR02-TSZTO1.idw



3 /8 P28-S359-REG3W-M_IN14-A-KOR02-TSZTO1.idw






5 /8 P28-S359-REG3W-M_IN14-A-KOR02-TSZTO1.idw



6 /8 P28-S359-REG3W-M_IN14-A-KOR02-TSZTO1.idw



al

32

b78

als9

Lo, |ca15

71/8

d1

P28-S359-REG3W-M_IN14-A-KOR02-TSZTO1.idw



11

k38\7

k38\7

8 /8 P28-S359-REG3W-M_IN14-A-KOR02-TSZT01



>

BERGEN S359-RTV3S

A B C D A B C D

1 [ s359-0012 | 455 | 176 4/5 13 | s359-5011 | 1537 80 3/5 @

2 | s359-0013 | 455 | 176 4/5 14 | s359-5012 | 1537 80 3/5 —

3 | s359-0014 | 455 | 176 4/5 15 | s359-5013 | 330 | 80 3/5 m—/‘\
4 | s359-1015 | 490 | 435 1/5 16 | s359-5014 | 330 | 80 3/5

5 | s359-1016 | 490 | 435 1/5 17 | s359-9002 | 422 | 355 2/5

6 | s359-1017 | 229 [ 415 1/5 18 | s359-9004 | 412 | 355 2/5 1 |<3), |(2).

7 | s359-1018 | 229 | 415 1/5 19 | s359-9305 | 487 [1512] 215

8 | s359-1019 | 229 | 415 1/5 20 | zQ2-1513 | 412 | 107 1/5 U/ﬂ/'”—/u“
9 | s359-1020 | 229 | 240 1/5 21 | zg2-1514 | 402 | 107 1/5

10 | s359-2005 | 1558 | 468 2/5 22 | zo3-507 | 350 | 120 1/5

11 | s359-3009 | 1504 | 435 2/5 23 | zo3-508 | 350 | 120 1/5

12 | s359-3010 | 1504 | 415 2/5

3x @ 8x @ ® 2X (@@@ 24x 12@@1@ 44XQ 12W 6X j
M4 0415 d 37 @6,3x13 mm 92 @6x13 mm e3 658 @8x30 mm f1 @6,5x40 mm f25 @6x30 mm f9
3X 4X 2X 10x 14x ® [|52X 16x 12x

k125 [oim—K38\3| Lo k38\7 1] - 12] s mm P38 o100 mm 5 M 012008 mm 112 115

Q 3% 3%
ssommW117\L) | Fommw117\P

4x© 1x =9

& 20mm $68||.mn z1

1 /7 P28-S359-RTV3S-M_IN14-A-KOR02-TSZT01



S
wll7\Ps

b
w117\l -

P28-S359-RTV3S-M_IN14-A-KOR02-TSZTO1.idw



3 /7 P28-S359-RTV3S-M_IN14-A-KOR02-TSZTO1.idw






P28-S359-RTV3S-M_IN14-A-KOR02-TSZTO1.idw

517




3~

i30

6 /7 P28-S359-RTV3S-M_IN14-A-KOR02-TSZT01



o

“D\% w117\l




>

S359-SFW3W

BERGEN

A B C D C D
1 S359-0021 | 455 | 100 2\2 9 S359-2009 | 1558 | 331 1\2 ‘.i
2 S359-0022 | 455 | 100 2\2 10 S359-2010 | 1538 | 323 1\2 k@)‘
3 S359-0023 | 455 | 100 2\2 11 S359-5022 | 455 | 308 1\2 m
4 S359-0024 | 455 | 100 2\2 12 S359-5023 | 450 80 1\2 @
5 S359-1026 | 450 | 298 1\2 13 S359-5024 | 450 80 1\2 7 ) 7 , VZ 7
6 S359-1027 | 450 | 298 1\2 14 S359-9005 | 463 | 528 1\2 = 4 = >
7 S359-1028 | 450 | 278 1\2 15 S359-9006 | 463 | 528 1\2
8 S359-1029 | 450 | 278 1\2 16 S359-9007 | 463 | 458 1\2
] AN
— 1 N 3
N DN >
7 I = G
e u 8 2
NA
[ '
| —— T N
N N 13"
\\_ L I

I

&

[

AX =% |3X AX 2% "113x AX 12x

¢ ST TR N

\Q 3132 b43 b78 M4 C415 d37 26,3x13 mm 92

16x 3X 10x _ & ||6x y ||1X & |[2X < ||24x
@8x30 mm f rzso mm 35 M4x20 mm j1 = 12 20azas? N108 & n165\L I N165\P |ss308308mm 054 B4x30 mm p21
16x 12x ‘ 6X 3X 16X 1Py

) el (&G, =2
@3,5x16 mm p38 @3,5x15 mm p51 22,916 mm p55 @6x60 mm p1 27 @15x12 mm #16

1/4

P28-S359-SFW3W-M_IN14-A-KORO01-TSZT01



2 /4 P28-S359-SFW3W-M_IN14-A-KOR01-TSZTOL.idw



3 /4 P28-S359-SFW3W-M_IN14-A-KOR01-TSZTOL.idw



c415 al132
-

4 /4 P28-S359-SFW3W-M_IN14-A-KOR01-TSZTOL.idw



